HEMAEEBRENDSLETHS-11

ﬂ 50 F m X

IS &1
F 2 18438 KB H=106. 324n/
106. 51 32
5
GK5 GK4
106. 61 106, 43>(7’|/— ~) 14.505 106. 30 (#)
&
. 108.82 T \]08. 87
GK6 > 1
(FL—»h)
" 106.85
5 ©)
5
-
2
GK7
(FL—F)
0.11
>
o
=l
107. 39

ERERAB TR214E8A11H
ERCE




MR ABREOAET 512
BR T A

S=1:200

ERES: T
EESEEEREEEEEEEE =
)
CIF T 0
KBM H=106. 324m #*
106.32 32 106. 23
% 5
GK4 GK3
106.30 (%8) 14.318 (FL—*H) 106. 26
- 1106. 26 et
RERE R REPERERERE LRSI RSO TSTSESISTSTST SRS STTSE SRS LSE LS SE S S S
S e
108877, 109.06" SLLTTNGD
AAAAAAAAAAAA - “?\\ oK 106. 39
\ trb—n  O=
109.87
= oft
©
E =~
<
b-11 =
<
B
|
===
{ K1
109.92 | e —_-,%%!‘; (FL—1)
P aa
(K10 18. 208 ‘107.16
(Cott) o
5-10 5-13

ERERAB TR214E8A11H
ERCE




